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QID: 101 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T uw # fRu or Redt & @ uw R
(?) & TUEF W 3 aell F= H AT

2478
33
1]5]7
11141 2
Options:
1) 18
2)20
3) 19
4) 24

Correct Answer: 20

QID: 102 -

How many triangles are there in the given figure?

& 8 e 3 Reet Paager ¥

v

Options:

1)3

2)4

3)6

4)8

Correct Answer: 4

QID: 103 -

the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘M’ can
be represented by 32, 78, etc., and ‘P’ can be represented by 11, 67, etc.
Similarly, you have to identify the set for the word “SUIT”

TH g had Uh TEAT-TAE GRT aRiam wrm R, Sk 6 faweut F @
Rt T A far R 1 Adeut # Bu sv d@m-dep IERT & ar aut
gRT gfT are ¥, St B BU arw Y amegl # {1 e d FaeH AR
ufth i TEar 0 F 4 ¥ IR IngEN H 5 F 91 37 IR F TH IR
H ugal A U AR g #A ToEH T g g S udar
SeTeRoT & fow ‘M 32, 78, Jfe R GRAAT S whaw ¥ aUr P’ @ 11,
67, 3G gRI gfaT S whar ¥ W e { uN UM A RBU weg
“SUIT” & AT T <Y ueameer 2

Matrix-1 Matrix-ll

Il Il
0[1]2[3]|4 5[6|7]8]9
O[D|F|[H[J]|L S|L|N|G[I A
1|N|P[R|[T[V 6|J[C|P|K]|Y
2[X|Z|B|E|C 7/H[R|B[M|W
3[T|K|M|O|Q SR T Z]0|
4|S|U|W[X|A 9|E[V|X|[Q|S

Options:

1) 40, 89, 31, 12
2) 99, 41, 30, 86
3) 40, 89, 58, 85
4) 99, 41, 56, 88
Correct Answer: 99, 41, 30, 86

QID: 104 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& M 3R Ipfadl F ¥ 3@ IR g & AT
o & uy ampfa BT &

)

Options:
1)
2)

N
3)
4)

Correct Answer:



http://www.a-pdf.com/?ms-demo

QID: 105 -

Which answer figure will complete the pattern in the
question figure?

FT @ 3R FPA uy 3pld F uldww & W@
FHLM?

Options:

1)

2)

3)

4)

AN

Correct Answer:

AN

QID : 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

I wF UUT @ AB T WY @ AT, ar & T
3R Apaal # @ @iF @ apfa uy el &
e ufafesa gefre

Options:

1)

2)

3)

L_

4)

|
A |

Correct Answer:

H4

|

4 |

QID: 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ F wy pfaa d REm wgar wee @
AT B JAT Weld & d1g I¢ fF 3T e
Sar g ame

UL

Options:

1)

2)

3)

4)

|| e

Correct Answer:

v

QID : 108 - By interchanging which two signs the

equation will be correct?
7+3+21x11=12

fohet &Y gl Y 39 F Seale TR FHAOT TE 8

SITQaT?
7+3+21x11=12
Options:

1) xand +



3) + and x

+ AT X

4) - and =

+dAar =

Correct Answer: + and x
+ Jar x

g =

QID:109-1f9_5_2=94and8_6_1 =52,
then9_4_3=7?

9 _5_2=943a8_6_1=52g8,aA9_4_
3=?

Options:

1) 112

2) 54

3) 144

4) 118

Correct Answer: 112

QID : 110 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Liquid

2. Liquor

3. Land

4. Lasted

5. Label

fAFfaf@d ereal 1 eregehler & 3T arel e & AR
o |

1. Liquid

2. Liquor

3. Land

4. Lasted

5. Label

Options:

1) 43512

2) 34512

3) 54312

4) 53412

Correct Answer: 53412

QID : 111 - In the following question,select the missing
number from the given alternatives.

3,5,9,17,33,?

fAFafaf@d gea & QU av Aot & & ocd 3 A
EaIc

3,59,17,33,?
Options:

1) 65

2) 64

3) 67

4) 66

Correct Answer: 65

QID : 112 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

W,S,0,K,G,?

T 3TshA T o B, f9wd & ve ug o g1 T
a0 fAhedt A § 98 T Ahed AT, ST ITshA H
QR

W,S,0,K,G,?

Options:

1)B

2)C

3)D

4)E

Correct Answer: C

QID : 113 - In the following question, select the odd
word pair from the given alternatives.

frafaf@aa ger & feu 71w fOedt # & fawA oeg
g7A & gAT|

Options:

1) Ginger : Root

3fcish : I3

2) Tomato : Fruit

CHICT : Tl

3) Potato : Root

3] : 1

4) Carrot : Fruit

aMsiY @ el

Correct Answer: Carrot : Fruit
aMsiY @ el

CHTCY © Tl

QID : 114 - In the following question, select the odd
number pair from the given alternatives.

eAfaf@d ueT & feu arv RAkedt & & fawer e
g7A HI Eﬁ?l'(fo |

Options:

1)7-38

2)3-34

3)18-47

4) 22 - 53

Correct Answer: 18 — 47

QID : 115 - In the following question, select the odd
letters from the given alternatives.

rfaf@d v & U v JQereul & & fJww 3Ry
@l giaw|

Options:

1) CD

2) KM

3) PQ
4) WX
Correct Answer: KM

QID : 116 - Identify the diagram that best represents
the relationship among the given classes.
Metal, Aluminium, Oxygen

9 3@ AT S A R T P F e & Fo w
e fAwIT FAT B
g, ey fafaaa, sitadterer



Options:

©p
©0o
D

o
oLO

Correct Answer:

@
©)o

QID : 117 - In the following question, select the related
word from the given alternatives.

Good : Bad : : Come: ?

Arafaf@a aee 7 fGu a1v foeweur 7 & @efta o=
& gAT|

BT 1 g AT ?

Options:

1) Go

STleT

2) Complete

90 AT

3) Left

EIp))

4) None of these

ST ¥ FIS AL

Correct Answer: Go

STl

SiTedT

1)

2)

3)

QID : 118 - In the following question, select the related
number from the given alternatives.

72:25::63:?

farafaf@d oo & u 71w fawedt & @ @efta wear
& gAT|

72:25::63:?

Options:

1)9

2) 16

3)18

4) 25

Correct Answer: 9

QID : 119 - In the following question, select the related
letters from the given alternatives.
PNG:QPJ::ZEN:?

AR weaT & RU a7 JFeredl & & Feferd 31eRT
& g

PNG:QPJ::ZEN:?

Options:

1) BGR

2) AGQ

3) AHR

4) BHR

Correct Answer: AGQ

QID : 120 - In the following question, select the word
which cannot be formed using the letters of the given
word.

HASTINGS

fArfaf@d fasedl & @ g wse AT S fqw v
eG b IERT FI TANRT dch Aal SoIAT ST HhdT|

HASTINGS

Options:

1) HATS

2) GIST

3) STING

4) STARS

Correct Answer: STARS

QID : 121 - Ais 4 times as heavy as B. B is half the
weight of C. Cis 2.5 times as heavy as D. D is one fourth
the weight of E. Who is the heaviest?

A, BH 47 8T 1 B, C% R & 3mer g1 C, D&
2.5+ @R §1 D, E& $R &1 U U g1 ded ol
FiT 2

Options:

1)A

2)C

3)B

4)AorE

A 37ar E

Correct Answer: A

QID : 122 - The ratio of present ages of Vimal and
Shyam is 3 : 2. 6 years ago Vimal was 18 years old.
What will be the age (in years) of Shyam after 7 years?

ﬁmaamaw@raémama:rma&zﬁ 6
a¥y qg faae 1 3y 18 a¥ ol 7 a¥ a1e I\ # Iy
(ast &) Far gri?

Options:

1) 29

2) 23

3) 22

4) 16

Correct Answer: 23

QID : 123 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

I. All chairs are tables.



II. Some tables are pens.
Conclusions:

I. Some chairs are tables.
II. Some pens are chairs.

A U aw weet & Fo FUA 3N 3TF a1 3T FHUA
W IR Fo ey ou 1w g, greife a1 g
AT aZT & fReetar g Fehct g1 Tl sy 9 3k
R aRa F fF Ru 1w «ia & ey, Gr are
HYAT & IR TR FFFdae &

hYe:

I wefr At At g

IL $& A Fold &

sy

L 35 FAr A 8

IL. 5 Fod Hraar gl

Options:

1) Only conclusion (I) follows.

Fad s (1) & &

2) Only conclusion (II) follows.

Faa forses (I1) T8 2

3) Both conclusion follow.

alt & sy @ g

4) Neither conclusion (I) nor conclusion (II) follows.
T sy (1) 7 & Fsehy (1) T B

Correct Answer: Only conclusion (I) follows.

Fad s (1) & &

Faa s (1) T8 2

QID : 124 - In a certain code language, "CORD" is
written as "FRUG". How is "LESS" written in that code
language?

T TafAse ®1g 9T #, "CORD" & "FRUG" for@r Sirar

& | 39 ®Is 99T 7 "LESS" # FH YR for@r swwem?
Options:

1) OHW

2) OHWW

3) OIW

4) OHVW

Correct Answer: OHVV

QID : 125 - In a certain code language, "NAIL" is
written as "1521013" and "GAME" is written as
"82146". How is "SALE" written in that code language?

uF fafdrse g T #, "NAIL" 1 "1521013" a2T
"GAME" #T "82146" @ ST &1 3§ &S AW &

"SALE" &I T gaR fer@r sreem?
Options:

1) 202136

2) 201136

3) 201135

4) 192136

Correct Answer: 202136

QID : 126 - What is the unit digit of product 5% x 37?

5° x 3’ & IUIAES F FHS H Ik FT §?
Options:

1)4

2)1

3)5

4)3

Correct Answer: 5

QID : 127 - Which of the following statement is true?
I. 4400 > 5300

II. 539 > 12200

Aff@ad & ¥ #ia a1 a9 T §?
I. 4400> 5300

II. 53% > 12200

Options:

1)Only I

Fad |

2) Only II

Faer 11

3) Both I and II

I ar II gar

4) Neither I nor II
Jaridgril

Correct Answer: Only I
Fae 1

Fad |

QID : 128 - What is the value of 199 x 201?
199 x 201 T AT 4T g2

Options:

1) 40001

2) 39998

3) 39999

4) 40003

Correct Answer: 39999

QID : 129 - How many zeroes are there at the end in
product 23 x 592

28 x 51 % qUEs & Hd F fhae T 82
Options:

1) 13

2) 10

3)23

4) 33

Correct Answer: 10

QID : 130 - The difference of squares of two
consecutive odd numbers is 104. What is the their sum?

2 HARTT fOvA &It & geif &1 37aT 104 g1 39T
T fohder 87

Options:

1) 27

2) 48

3)52

4) 54

Correct Answer: 52

QID: 131 -



What is the value of /36 +/81+./16 ?

36 + 81+ /16 & AT FaT §72

Options:

1)8

2)9

3)6

4)7

Correct Answer: 7

QID : 132 - L can do a piece of work in 72 days. If M is
50% more efficient than L, then in how many days can M
do the same work?

L fpelt & &Y 72 fealt & R Thar &1 IfT M I
&THT L& 50% 38 g, df 34T T & M fohder fgat
H FEm?

Options:

1) 36

2) 48

3)24

4) 42

Correct Answer: 48

QID : 133 - P is twice as efficient as Q and together
they finish a piece of work in 12 days. How many days
will P take to complete the work alone?

P T T FRreldl Q& I & T d kel Ao fanel
F 12 T # qU & FHhd g1 P 3o 39 H A
W A A et feeT oem?

Options:

1) 18

2) 24

3) 36

4) 32

Correct Answer: 18

QID : 134 - The lengths of two diagonals of a rhombus
are 12 cm and 20 cm. What is the area (in cm?) of the
rhombus?

T FHUGHS & & fqeoll T ofFars 12 A qur 20
QA &1 gHAgS @ aEthel (J.HL H) Fr g2
Options:

1) 60

2) 120

3) 180

4) 240

Correct Answer: 120

QID : 135 - The marked price of a chair is Rs 720 and a
discount of 30% is given. What is the selling price (in
Rs)?

T FET H1 AHhd He 720 % § I 38 W 30% H
e & Sl 81 T Hea (% ) ar @2

Options:

1) 504

2) 440

3) 540

4) 580

Correct Answer: 504

QID : 136 - The marked price of an article is Rs 700. A
shopkeeper gives a discount of 20% and still makes a
profit of 40%. What is the cost price (in Rs) of the
article?

Teh a&] H1 fhd HoF 700 & g1 GhEER 20% Hr T
& & Ur Y 81 a8 40% T ATH HATAT gl G
T Hed (3 H) F1 2

Options:

1) 400

2) 450

3) 300

4) 350

Correct Answer: 400

QID:137-IfA:B=1:6andB: C=2:5, then what
isA:B:C?
e A:B=1:63RB:C=2:58,arA:B:C&ar

gram?

Options:

1)1:6:15

2)2:3:5

3)1:6:5

4)1:5:6

Correct Answer: 1:6: 15

QID : 138 - Two numbers are in ratio 7 : 11. If their
difference is 48, then which number is smallest of the
two number?

ar FEAT3T # eI 7 : 1181 IS 3eTar 3R 48§, A
gl & ¥ BT &A1 HiT & g2

Options:

1) 60

2)72

3) 84

4) 96

Correct Answer: 84

QID : 139 - The average of 10 numbers is 21. If one
number is excluded, the average becomes 23. What is
the excluded number?

10 F&AT3Tt T 3 ad 21 g1 I U TEAT & ger fear
ST, & 3Ed 23 @ Sar ¥ gerS S HEAr 4T 82
Options:

1)3

2)5

3)7

4) 11

Correct Answer: 3

QID : 140 - By selling an article for Rs 1050, a
shopkeeper gains 50%. To gain 20% what should be the
selling price (in Rs)?

Tk €] H 1050 T H T W Teh gHhelgR H 50%
AT I &1 20% M8 AT & v fasha #ea (7 #)

FIT glaAT TAIRT?
Options:
1) 780



2) 840
3) 920
4) 680
Correct Answer: 840

QID : 141 - If the rice is sold at Rs 72 per kg, there
would be a 10% loss. To earn a profit of 30% what
should be the price of rice (per kg)?

Ife arae @ 72 % 9fa Far. & 7 & 91 A1ar &, ar
10% Fr g1feT 81afTl 30% T AT 9Ied el & oIT

grael &1 HrAd (T R =T ger arfge?
Options:

1)72

2) 90

3) 104

4) 110

Correct Answer: 104

QID : 142 - If one-third of a number is 120, then what
will be the 55% of that number?

T T&aT 7 Uh-fags 120 &, O 39 &A1 FT 55%
FT gIem?

Options:

1) 192

2) 198

3) 171

4) 206

Correct Answer: 198

QID : 143 - A number is first decreased by 20% and
then increased by 20%. If the number so obtained is 48
less than the original number, then what is the value of
the original number?

Teh EAT &l Tgol 20% TerT Jrar & 31 T 20% et
T ser fear Srar g1 afe gyrea gear areafds &
T 48 FA g, A aEdTds TEAT FAT graf?

Options:

1) 1200

2) 1320

3) 800

4) 1440

Correct Answer: 1200

QID : 144 - Speeds of a boat along the current and
against the current are 11 km/hr and 6 km/hr
respectively. What is the speed of boat (in km/hr) in still
water?

Teh AT FI AT ORI & 3HeJhel AT ORI & Gfchel
feem & saver: 11 frat/aer aur 6 .t /ger g1 ed
ol H oG @ I (o r./aer #) a7 §2

Options:

1) 2.5

2)7.5

3)6.5

4) 8.5

Correct Answer: 8.5

QID : 145 - A man travels some distance at a speed of
15 km/hr and he returns at a speed of 6 km/hr. If the

total time taken by the man is 14 hours, then what is the
distance (in km)?

u eafad 15 frat/me & 71fy ¥ o gt a7 Far §
ar g 6 fh.Ar/ger & a1fd & arad 3rar g1 I 39
SAfFd T 38 T A F Fol 14 €4 HT THF 97l g,
ar g@r (fr.#r. #) =/ g

Options:

1)48

2) 60

3) 45

4) 56

Correct Answer: 60

QID : 146 - An amount becomes 3 times in 4 years
when kept in a scheme of simple interest. In how many
years will it become 21 times?

Teh YA TTUROT sATST aTell Aotall 3 A9 et W
4a¥ 3 377 g S §1 98 21 I e auf 7 @
STeaf?

Options:

1) 20

2) 36

3) 40

4) 30

Correct Answer: 40

QID: 147 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

Ay T o x@r fF & af 2009 ¥ 2016 de TEH
FUT $T fadhr (@05 H) FT grar T4 g

250 ~ 210
gﬁ 200 4 165 175
(=]
s E 150 132 o
c 150 140
§§ 100 A 10
® 50 -
0

(2] o : o~ (32 T w (=]

8 3 © &5 & & & o

o~ o~ o™~ o~ o~ o~ o~ o~

Year / 9%

What is the percentage change in the sales the company
from 2014 to 2016?

¥ 2014 & 2016 doh HUT Fr fahr F ey gfaera &t
gRade g3 &2
Options:

1) 20% increase
20% Elﬁ{

2) 22% decrease
22% hAT

3) 25% decrease
25% hAT

4) 20% decrease
20% haAT

Correct Answer: 20% decrease
20% AT



25% AT

QID: 148 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

dr fer aw Y@ A F ad 2009 ¥ 2016 OF TH
HUAT & I (@05 /)P g @ g

250 4 210

N

o

(=]
L

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

A Rw e x@r o & af 2009 & 2016 de T
FUAT $T AT (@05 F) FT ger T

250 ~ 210

200 A 165 175

132

150 e 140

PECS

o

o
L

165 175
132

Sales (in crores)
fashr (w315 )
g

w
(=}
L

150

150

140

-
o
o

1110

Sales (in crores)
fofY (13 )
g

(4]
o
L

(=]

o~ ™
o~ N

2009
2010
2011
2014
2015
2016

Year | 3%

In how many years was the sale of the company more
than the sale in 2011?

fehcier ast 3 el v foshr o 2011 & g5 b &
3ifees o

Options:

1)4

2)3

3)5

4)2

Correct Answer: 3

QID: 149 -

The line chart given below shows the sales (in crores)
of a company for the years 2009 to 2016.

d T aw Y@r e F a¥ 2009 ¥ 2016 OF UH
FUAT T fadhr (@05 ) S gt T g

250 1 210
gﬁ 200 A 165 175
§E 150 132
A 150 L 140
gg 100 - 10
] 50
0
D o - o~ ©@ el w w
o — = — — — — —
o o b=~ o o o
o~ o~ o~ o~ o~ o~ o~ o~
Year | 3%

What is the average sale of the company from year 2009
to 2015?

ay¥ 2009 & 2015 d& FU=T Fr 3iEa hr F2r 8?2
Options:

1) 157

2) 156

3) 165

4) 158

Correct Answer: 156

QID : 150 -

(=}

2009
2010
2011
2013
2014
2015
2016

In how many years, the sale of the company was a
multiple of 10 crores?

fohcier st o foU shueh &1 TSk 10 5 1 IOTeT A2
Options:

1)6

2)4

3)3

4)5

Correct Answer: 5

QID : 151 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.
Santosh has (1)/ acted enough badly to (2)/ deserve a
praise. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

QID : 152 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

No sooner they entered (1)/ than she got up (2)/ and
left the room. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

QID : 153 - In the following question, the sentence
given with blank to be filled in with an appropriate
word.Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

This work is my dignity.

Options:

1) below

2) under

3) excel

4) upon

Correct Answer: below



QID : 154 - In the following question, the sentence
given with blank to be filled in with an appropriate word.
Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

She travelled the night.

Options:

1) before

2) during

3) On

4) with

Correct Answer: during

QID : 155 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Confess

Options:

1) Conceal

2) Admit

3) Hide

4) Mask

Correct Answer: Admit

QID : 156 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Convict

Options:

1) Casualty

2) Victim

3) Innocent

4) Culprit

Correct Answer: Culprit

QID : 157 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Creep

Options:

1) Tiptoe

2) Public

3) Frank

4) Open

Correct Answer: Tiptoe

QID : 158 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Authenticated

Options:

1) Authorized

2) Disprove

3) Confirmed

4) Verified

Correct Answer: Disprove

QID : 159 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Unfair

Options:

1) Prejudice

2) Dishonest

3) Crooked

4) Just

Correct Answer: Just

QID : 160 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Critical

Options:

1) Analytical

2) Complimentary

3) Sharp

4) Acute

Correct Answer: Complimentary

QID : 161 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Make a fool of oneself

Options:

1) To be stupid

2) Greedy

3) Puzzled

4) Annoyed

Correct Answer: To be stupid

QID : 162 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of theldiom/Phrase.

Call down

Options:

1) To appreciate

2) To bribe

3) To scold

4) To entertain

Correct Answer: To scold

QID : 163 - Improve the bracketed part of the
sentence.

You and she have finished (our) work.
Options:

1) ours

2) your

3) yours

4) No improvement

Correct Answer: your

QID : 164 - Improve the bracketed part of the
sentence.

He (has been playing) cricket now.
Options:

1) had played

2) is playing

3) was played

4) No improvement

Correct Answer: is playing

QID : 165 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

Tough tissues in joints

Options:



1) Ligaments

2) Muscle

3) Arteries

4) Veins

Correct Answer: Ligaments

QID : 166 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A place for keeping dead bodies before burial on
cremation

Options:

1) Apiary

2) Centenary

3) Library

4) Mortuary

Correct Answer: Mortuary

QID : 167 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Detor

2) Debter

3) Debtor

4) Dabtor

Correct Answer: Debtor

QID : 168 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Autuumn

2) Autumn

3) Autum

4) Aoutumn

Correct Answer: Autumn

QID : 169 - Rearrange the parts of the sentence in
correct order.

Children with

P: skills progress

Q: poor phonological
R: more poorly
Options:

1) RPQ

2) PRQ

3) QPR

4) QRP

Correct Answer: QPR

QID : 170 - Rearrange the parts of the sentence in
correct order.

Several factors

P: of the lithosphere as

Q: it descends into the mantle
R: contribute to the heating
Options:

1) PRQ

2) RPQ

3) RQP

4) QPR

Correct Answer: RPQ

QID : 171 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The between grandparents and grandchildren

be described in words. Grandparents do not only
inculcate habits and moral values in the kids but
also become their best buddies when it comes to having
unlimited . While the parents try to provide all
that they can to their kids for their allround development,
their growth is without their grandparents.
The between grandparents
Options:
1) bond
2) cord
3) strong
4) string
Correct Answer: bond

QID : 172 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The between grandparents and grandchildren

be described in words. Grandparents do not only
inculcate habits and moral values in the kids but
also become their best buddies when it comes to having
unlimited . While the parents try to provide all
that they can to their kids for their allround development,
their growth is without their grandparents.
grandchildren be described
Options:
1) can mostly
2) cannot
3) always
4) hoping
Correct Answer: cannot

QID : 173 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The between grandparents and grandchildren

be described in words. Grandparents do not only
inculcate habits and moral values in the kids but
also become their best buddies when it comes to having
unlimited . While the parents try to provide all
that they can to their kids for their allround development,
their growth is without their grandparents.
Grandparents do not only inculcate habits
Options:
1) bad
2) poor
3) good
4) average
Correct Answer: good

QID : 174 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.



The between grandparents and grandchildren
be described in words. Grandparents do not only
inculcate habits and moral values in the kids but

also become their best buddies when it comes to having
unlimited . While the parents try to provide all
that they can to their kids for their allround development,
their growth is without their grandparents.
when it comes to having unlimited

Options:

1) dance

2) studies

3) sing

4) fun

Correct Answer: fun

QID : 175 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.
The between grandparents and grandchildren

be described in words. Grandparents do not only
inculcate habits and moral values in the kids but
also become their best buddies when it comes to having
unlimited . While the parents try to provide all
that they can to their kids for their allround development,
their growth is without their grandparents.
their growth is without
Options:
1) necessary
2) better
3) incomplete
4) great
Correct Answer: incomplete

QID : 176 - The only difference between GNP and GDP
is that GDP does not include income from

Suady 3R NEN F S AT JaW I & F D
I ¥ 31T A FEr R
Options:

1) Domestic production

TRl 3cUTeel

2) Abroad

facer &

3) Steel production

SEATT 3cUTGet

4) Secondary sector

AreafAs a7

Correct Answer: Abroad

faeer &
ATEITHES &

QID: 177 - refers to the ability of a nation to
improve standard of living of its citizens.

Teh ST T 3ol AT T Sidel TAX T
FUNET &1 &TAdT &1 g2 &
Options:
1) International development

IR farE

2) National development

Tso faera

3) Domestic development

e T

4) Rural development

T R

Correct Answer: National development
g fawra

o] T

QID : 178 - How many parts are there in Indian
Constitution?

RO wfaursT 7 foraer smer 82

Options:

1) 25

2) 30

3) 20

4) 28

Correct Answer: 25

QID : 179 - The parliament, while in session, begins
with which hour?

I FHG §F H gl g, dl G4 Ugel el AT FHIel I
YT BIelm 82

Options:

1) Zero hour

P HTe

2) Question hour

9ReAehTel

3) Discussion hour

TR

4) None of these

ST F S A&

Correct Answer: Question hour
YReAehTel

Tl

QID : 180 - Which among the following categories of
land mention in Chola inscription is not correctly paired?

el R & Seoi@d Aeafai@d ofd $r Aot &
T DleT AT LT &IT A IgT ST INAT 8?2

Options:

1) Brahmadeya-land gifted to Brahmanas

SEHCT - SeHed Hi He N S arell A

2) Devadana-land gifted to temples

aeme - #R]T e i S aneh qfH

3) Shalabhoga-land for the maintenance of a school
ATATHIT - Teh Thel & TEREE & faw oA

4) Vellanvagti — land donated to Jaina institutions
doaated - S dEAEt # o & S A
Correct Answer: Vellanvagti — land donated to Jaina
institutions

JooTeTaea - ST TEATT Y o A S S
JooTeTaea - ST TEATST Y o A S s




QID : 181 - Which Bill/Act provided for the trial of
European persons by Indian, and sought equality
between British and Indian Judges in the country?
P AT & vy f&ar mar § & 9rRd
wararefier off JATWGT GfFdl W Hohed Tl Fohdl ¢
aifh ARA & HH e arel A 3R ARAT
iRl & dF AT T Fr ST Tqh?
Options:

1) Vernacular Press Act

gelieho 9E e

2) Ilbert Bill

soac faor

3) Government of India Act, 1858

R TR AT, 1858

4) Stamp Act

o 3

Correct Answer: Ilbert Bill

soac foer
HRT WPR AT+, 1858

QID : 182 - What is the position of Earth from the Sun
among the eight planets?

3G Tt H gL gF A Al § T )W FUa g2
Options:

1) First

qgell

2) Second

LRy

3) Third

SIEEY

4) Fourth

Ttar

Correct Answer: Third

13K
GIESEL

QID : 183 - What is the zone between the Tropic of
Cancer and the Arctic Circle in Northern Hemisphere, and
the Tropic of Capricorn and the Antarctic Circle in
Southern Hemisphere called?

Sccill AT H &eh XWT Ud 3ok 4d (3Tehieeh) ool
T STEIol Ty A HR @1 vd gfarol g (3feriéan)
ged & oI dTel HiCat AT FHgeld g2

Options:

1) Temperate Zone

frdrsoT Hfeaer

2) Frigid Zone

i sfeasr

3) Torrid Zone

30T hicay

4) None of these

ST ¥ IS AL

Correct Answer: Temperate Zone

frarsuT Sfeser
30T SHfeaer

QID : 184 - The presence of specific features or certain
habits, that enables a plant or an animal to live in its
surrounding are called as

ﬁaﬁﬁwmﬁmmﬁmﬁﬁm
e 37aT S HT 3Fh IRAY H Eel & AT &A1 g,

gl g
Options:

1) Adaptation
iefpelel

2) Habitat

JATara

3) Terrestrial habitat
T 3Tard

4) Aquatic habitat
ST AEar™
Correct Answer: Adaptation
3eIheled

O\

3irara

QID : 185 - The source of O, liberated in photosynthesis
is

YehTel HeowoT # e 0, F1 & J
Options:

1) Sunlight

& F1 TR

2) Carbohydrate
EAEIEE

3) Water

STl

4) Carbon dioxide

FIeeT LATFASS
Correct Answer: Water
STl

olel

QID : 186 - The diastolic pressure (mm of hg) in a
healthy person is

WWHW#W@@EW . Sl & AL

@A) @ gl
Options:

1) 60

2) 80

3) 100

4)1

Correct Answer: 80

QID : 187 - What is the number of oscillations per
second called?

gfd A3 gl aTor areledl T T&AT I FIT Hgd &7
Options:
1) Frequency



3mafea

2) Amplitude
TTH

3) Pitch
dRcd

4) Loudness
Ydeldr

Correct Answer: Frequency

QID : 188 - The image formed by a concave mirror
than object.

3ade gUuT GaNT & Sfafdd avq & |
Options:

1) is always smaller

T oIeT gl §

2) is always larger

Hed o3T gl §

3) is always equal

[T SRR gIar &

4) can be smaller or larger

BICT IT 937 & ToheT §

Correct Answer: can be smaller or larger
BICT IT 937 & ToheT §

{ed 9T g1 &

QID : 189 - What is a 'bug’ in computer terminology?
TGN AscTdoll # Teh '§97 FIT §7?
Options:

1) Insect inside a computer

HYX & eI HIT

2) Error in computer program

S A A e

3) Virus in computer

Y H AR

4) All the options are correct

sl fasweT agr &

Correct Answer: Error in computer program
S A A e

sl fasweT agr &

QID : 190 - The process of protecting iron by coating
with Zinc is called

g @l o 1 W & garT TaTd &iel T lshar
gl gl

Options:

1) Quenching

AHA

2) Galvanising

Areastiantor

3) rusting

ST STITeAT

4) Metallurgy
T

o]

Correct Answer: Galvanising

Ireasiieor
TTshaT

9

QID : 191 - A mixture of cement, gravel, coarse sand
and water is called

HHe, Thehs, TYA dTe] N STl T Teh AT

FgelTcl g
Options:
1) mortar
AR

2) concrete

FHohic
3) slurry
oI

4) moderator

Correct Answer: concrete

Fehlc
Fehic

QID : 192 - Which of the following statement is not true
about ozone?

Arfafld & & A9 & 99 #F Fid a1 FUT T T
el 82

Options:

1) Ozone is poisonous

3N e grar &

2) Ozone is stable near the earth’s surface

3T g i Tg F forehe AR g &

3) Ozone absorbs harmful radiations from the sun
ST GF F 3 aTeh IR Ao # smEeifa
AT &

4) Formula of Ozone is O3

3ol T T O3 &

Correct Answer: Ozone is stable near the earth’s
surface

3T gt i Tlg F forehe R g &
3T fader grar &

QID : 193 - Which among the following is a web portal
to facilitate flexibility in Utilization of Domestic coal?
AFATf@d # @ i @1 a9 diEe oo HIA F
39T H Sedielvs @ giaer & fav g2

Options:

1) Green Energy Corridor

N TSI HINER

2) Posoco

BIEIED]

3) Coal Mitra
Fer AT



4) Suryamitra
R RIEEN

S

Correct Answer: Coal Mitra

Frer AT
qrgTeRT

QID : 194 - Who discovered the blood groups?
T HAHG T Wiel fheet $hI?
Options:

1) Karl Landsteiner

Tl AISEEIT

2) Joseph Monier

SR AfAaR

3) William Kelly

faferger helt

4) William Sturgeon

faform Teorer

Correct Answer: Karl Landsteiner
el ASECIT

el ASECIT

QID : 195 - Manpreet Singh is associated with which
sport?

HAN &g fFd W & 53 &2
Options:

1) Hockey

glehT

2) Shooting

NGl

3) Cricket

forare

4) Tennis

(AT

Correct Answer: Hockey

glehT

SGl

QID : 196 - Kollam is a traditional folk art of which
state?

Fleod T T & IRIRS ol Foll §2
Options:

1) Tamil Nadu

dffrer =g

2) Uttar Pradesh

3cX geeT

3) Gujrat

Pl

4) Kerala

el

Correct Answer: Kerala

el
ol

QID : 197 - Who among the following in NOT a
recipient of Padma Vibhushan 2017 in the field of Public
Affairs?

SieT Fath &7 7 Tt # @ dler 937 faeqwor 2017 &
gTecehdl w8l &7

Options:

1) Sharad Pawar

WG Yar

2) Murli Manohar Joshi

AT gL el

3) P A Sangma

4 T FarAT

4) Atal Bihari Vajpayee

3ce gRT areradt

Correct Answer: Atal Bihari Vajpayee

3cer fgRr areradt

3cer fgRT areradt

QID : 198 - Who is the author of the book named
“Oliver Twist"?

"3ifereR Tfaee” FHS s & dWh Dl §?
Options:

1) Benazir Habib

SR gele

2) Charles Dickens

ey 3ha

3) Paul Kennedy

qieT SheigT

4) Eric Segal

TR [T

Correct Answer: Charles Dickens

EIGGIREC T3
COEICCIC]

QID : 199 - Prabal Dostyk-16 was a joint exercise
between Indian and army.

e SITeah-16 HRAT aar Tl & 6T Th
[YFd eI AT

Options:

1) Kazakhstan

HATGEATA

2) Nepal

AT

3) China

AT

4) USA

TIFT T HARHT

Correct Answer: Kazakhstan
HATGEATA

h TG EATT

QID : 200 - A joint training exercise with the code name
'Ekuverin' exists between the and India to
enhance the military ties.



JUT ART & AT e et Hr dereT &
ToIT "Torga T #ATHeh Teh EgFc Al TIRIETOT 31
Al B
Options:
1) Bhutan
HCTT

N

2) Maldives

AT

3) Pakistan

qifeREdTst

4) China

AT

Correct Answer: Maldives

AL
HeTeT

N




